K |

Comﬁlete.

N 0 N e 1§
E | | — | I—| |F |

f | 650 || | | 743 ' |
| | [ 640 IR | ]| 733 |
% | 630 || | | 723 882 |

: IR 872 ||
90 320 | | 267 862 |

| r I 'I ‘ " o - :‘
; 80 310 || | 257 |
: - 1 | 1 | ?
! 70 || || 300 | 247 i \

Write the number 10 more than |

Numbers to 1000: sequences, 10 morelless



Add 10

=L g f.

| 473 I;

| — '
e | = EE Y, =W ==3E— 0
Subtract 10| |Subtract 10| |Subtract 10| |Subtract 10
-] ‘ \
| 627 ! J— L‘ z‘ }'
R s B, VY =

— -.'3\\"""//
f e =
1—'—-

/ - al
"3 8 . §%f 56
A
| 305 > £ 1 220
! g“ %{
k M\(V&Q;"\’W«P s P RN \\7}&‘ :

,‘*le5+ 10 = 1| 359 +20= 207 + 80 = .
i == T =
481 — 10 = | 768 —30 = {|. 575-70 = o
‘3'. ok 2 =
i 123 + 60 = 665 — 40 = | 302 +490 =
Q‘LL Iz ~ e - ,-W_.—ﬂ‘"f—z—'—:-lxu% =
658 — =648 419+ =469 804 + = 8|/
775 — =705 362 - =322 94l - = q

Numbers to 1000: adding/su

btracting multiples of 10




5x0=

5x 1| =
. 5 sixes =
S = 8 ===
| e S times 8 = |

| 5)(3: ".._q__. .
| I | five =

SICEA—

32 PR

~ Stimes 3 =

S5X5=18 | & 2 x5 =
> X 6= —_— ; 5 fours =
e 0 5 =

B 5 zoros =

multiplied by 5 =
9 multiplied by 5 =
B

=] . L
" [,
= Ml

. na

T
| ﬁE'I 5 fives

3
| (T
i 1
= \k

= : — _—|:'
‘.._ 5 times 5 ‘H|

TEXTBOOK Multiplication: 5 times table
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3Ix7=

oot 3xAa-= | 3x 10 =
|l : (\M

‘ng'E{(j?ﬂwﬁ“sﬁ“?ﬂ%%@‘ W N e N N

e e

3 times 4 = 3 times 6 =

7x3 = _y 2x3=
0 threes = l |0 threes =

8 multiplied by 3 = t | multiplied by 3 =

— |

Colour to match.

/gtimes% ﬁthrees\ /;sevensl [ aIx3 |

TEXTBOOK
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Multiplication: 3 times table




